cone slant height 10

848.37 vir

(8.16496603581,403.066525385 )

317.57 1 av

L gr

(8.16496580928,0)

2...1_2 .3
ﬂ(x)= nxJ 00—x X

T 15.9

_—  (00)] 7 > 310042
0.0149 11.6
-177.51 209.57 1

1-18-19 scenario 4 slant height 10.tns
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Done

x=-8.16497 or x=0. or x=8.16497

71(8.163 403.067
75(x):=/100— Done
1-18-19 scenario 4 slant height 10.tns 20f7



V(r) =

2+ [100-r2
3

Feasible Domainofr: 0<r <10

av 2mer (10072 g3
dr 3 3+ {1002

If V(r) has a maximum over its feasible domainthen it occurs at one of the following:

V(0), V(10) these are valies of volume at the extremes

dv
Or at the solutions of — =0

dr
V() =0
V(10) =
oratr = / J_ =8.16497
2 2000-
v |22 - = —403 067
3 27
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Volume formula in terms of radius V(r) =

wr2e 10072
3

Feasible Domainofr: 0<r <10

av 2mer (10072 g3
dr 3 3+ {1002

. . : 200 _
The maximum volume for this scenario occurs atr = |—— = 8.16497

3.
: - . ’ 100 10- 3

The height the maximizes the volume is h = = \/_ ~ 5.7735

3 3

. ) ,200 2000-m- 3 _
The maximum volume is V(|—— ) = r =403.067
3 27

1-18-19 scenario 4 slant height 10.tns
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exp anc(fél(x))

solve(fé(x)zo,,x)

100
3

Done

—n-(s-xz—loa

3

100 - x ‘n-x3

1-18-19 scenario 4 slant height 10.tns
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3
. ) 100 A- h=-
Volume formula in terms of radius V(h) = - -

3 3
Feasible Domainofh: 0<h <10

dv _100-m Y.
dh 3

T

. . : 100
The maximum volume for this scenario occurs ath = |—— = 5.7735

3.

| » 1006

The radius the maximizes the volumeis r = ~ 8.16497
3

. X 100 20007 (3 _

The maximum volume is V(|— ) = J_ =403.067
3 27
dv
—atx= 3
dh
dv 737 _
= =76.4454

dh 3

1-18-19 scenario 4 slant height 10.tns
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1812.127 vA) 343.831 dV
| ' dh

| (:0,104.71975512)
- (5.77350271429 ,403.066525385 ) .

100 |

b
VAN B S S I (e N
7o)

100-h-t h -m

Volume formula in terms of radius V(h) =

3 3
dv  100-

Feasible Domainofh: 0<h <10 = = —h2*n
dh 3

1-18-19 scenario 4 slant height 10.tns 7of7



cone slant height 12

848.37 v{r)

(9.79795898154 ,696.498955866 )

317.57 1

L gr

dv

(9.79795897113,0)

00_2-nqu144x2 poxd
o) 3 144-x2
0.D7 16.59
-177.51 209.57 -

1-18-19 scenario 4 slant height 12.tns

A
15.94
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Done

2T X J 144—x2 ’IE'X3
3 3- [ 144-x2

Done

x="4- \/6_ or x=0 or x=4- \/6_

x="9.79796 or x=0. or x=9.79796

71(9.798) 696.499
/5] (x)::\’ 1442 Done
1-18-19 scenario 4 slant height 12.tns 20f7



o
V(r) =

2. (14412
3

Feasible Domainofr: 0<r <12

av 2mer (1442 g3
3

dr

3+ 14412

If V(r) has a maximum over its feasible domainthen it occurs at one of the following:

V(0), V(12) these are values of volume at the extremes

dv
Or at the solutions of — =0
dr

V(0) = 0

V(12) = 0

oratr=[48 =4- [3 =6.9282 hatr =96 =4- [6 =9.79796
V(48 ) = 64-7- [6 =492.499

1-18-19 scenario 4 slant height 12.tns
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Volume formula in terms of radius V(r) =

norle 14412
3

Feasible Domainofr: 0<r <10

av 2mer (1442 g3
dr 3 3+ 14412

The maximum volume for this scenario occurs atr =(48. ~ 6.9282
The height the maximizes the volume is h =/48 =4 \/g ~ 9.79796
The maximum volume is V(/48 ) = 64-71- [6 =492.499

1-18-19 scenario 4 slant height 12.tns
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expand (f4 (x))
solve (f4(x)=0 ,x)

Ja8

Done
e (x2 —48)
'II')C3
481 x—
3
Done
48 17" x 2

x="4- \/3_ or x=4- \/3_
43

1-18-19 scenario 4 slant height 12.tns
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Volume formula in terms of radius V(h) =48 /- 1—

Feasible Domainofh: 0<h <10
d—I/=48.]-[—h 2.]-[
dh

The maximum volume for this scenario occurs at h =/96.
The radius the maximizes the volumeis r = 4- Jg ~ 6.9282

The maximum volume is V(96 ) = 64- - [6 =492.499

av
—ath= 4
dh

dv
— =32-71 =100.531
dh

~ 9.79796

1-18-19 scenario 4 slant height 12.tns
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1812.127 vA) 343.831 dV
| ' dh

(:0,150.796447372)

TN

6.92820265866 ,696.498955866 )

(692820323025, 0);

Volume formula in terms of radius V(h) =48 /i- 1—

|74
Feasible Domainofh: 0<h <12 — =48 —h“ 7

1-18-19 scenario 4 slant height 12.tns 7of7



cone slant height 15

58 T v(r 317.57 1 dV
(12.2474493599,1360.34952318) L dr

(12.2474481%39,0)

¥
4.06 /11 | 1594

Leot 17.47}299.57 |
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ﬂ(x) x> m

2 e .}225_2 3 Done
) —

solve(fZ(x)ZO,x) x="546 or x=0 or xzdg

solve(/Z(x)ZO.,.} x="12.2474 or x=0. or x=12.2474
f1(12.24) 1360.35
)= 2252 Done
73(12.247 8.66089
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o
V(r) =

~r2°J225—r2
3

Feasible Domainofr: 0<r <15

av 2mer (22512 pp3

dr 3 3+ {22512

If V(r) has a maximum over its feasible domainthen it occurs at one of the following:

V(0), V(15) these are valies of volume at the extremes

dv
Or at the solutions of — =0
dr

V(0) =0
V(15) =0

oratx = 150 =56 =12.2474

V(150 ) = 250- 7+ 3 =1360.35

1-18-19 scenario 4 slant height 15.tns
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Volume formula in terms of radius V(r) =

" r2 . J 225—}’2
3

Feasible Domainofr: 0<r <15

av 2mer (22512 pp3
dr 3 3+ {22512

The maximum volume for this scenario occurs atr =J150. ~ 12.2474
The height the maximizes the volume is h = 75 =5 Ew 961.912
The maximum volume is V(\/150 ) = 250-7- \/3_=1360.35

1-18-19 scenario 4 slant height 15.tns
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Done

Done

1-18-19 scenario 4 slant height 15.tns

S5of 7



Volume formula in terms of radius V(h) =75+ i —

Feasible Domainofh: 0 <h <15
d—V=75‘TE—h 2.5
dh

The maximum volume for this scenario occurs at h =(75. = 8.66025
The radius that maximizes the volume is r = \/150 =5- \/gw 12.2474
The maximum volume is V(/75 ) = 250- - |3 =1360.35

A%
—atr=5 h=10- /2
dh

dv _
— =-125-1 =-392.699

dh

1-18-19 scenario 4 slant height 15.tns
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1812.121 T av
| - dh

(8166025535716,1360.34952318 )

T

10,235.619449019)

(8.66025403784,0) "

Volume formula in terms of radius V(h) =75 - 71—

|74
Feasible Domainofh: 0<h <15 —=75'1—-h“'x

1-18-19 scenario 4 slant height 15.tns 7of7



